	
	Algebra II 







     Name: _____________________

Unit 4 Study Team Test





     Date: ___________ Period: ____

Show all your work and reasoning.  Use pencil and highlight your answers.

	
	1.  Sketch the functions and identify the following characteristics.  Label any asymptotes.  

	
	a)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________



	b)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________


	c)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________



	
	d)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________



	e)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________


	f)  
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Locator: ______ Asymptotes: ____
Domain: ____________ 

Range: _____________



	
	2.  Determine the equation.

	
	a)
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Equation: _________________
	b)
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Equation: _________________
	c)
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Equation: _________________

	
	3.  Determine the equation of the parabola with a vertex at (–2, 3) and passing through the point (0, 8).



	
	4.  Consider the graph of the equation 
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.  Make one change in the equation of 
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 so that the graph of 
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:

	
	a)  opens downward.
	___________________
	d)  is narrower.
	___________________

	
	b)  has no x-intercepts.
	___________________
	e)  is moved to the right.
	___________________

	
	c)  has an “S” shape.
	___________________
	
	

	
	5.  Solve for x.

	
	a)  
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	b)  
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	c)  
[image: image15.wmf]1

6

2

-

=

-

x

x


(by completing the square)
	d)  
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	6.  Simplify completely.

	
	a)  
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	b)  
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	c)  
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	7.  Cathy hit a golf ball 180 yards down the fairway.  The ball reached a maximum height of 25 yards following a parabolic path.  

	
	a)  Label a complete graph showing the distance traveled verses the height of the ball.



	b)  Write an equation that models the situation.
	c)  A squirrel sat on the fairway.  It was 72 yards away from Cathy when she hit the ball.  How high was the ball when it flew over the squirrel?

	
	8.  Rewrite in vertex form by:

	
	a) completing the square
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	b)  averaging the roots
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	c)  using the formula
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